Jo0dbMmsioooooooog

00 O
(L) AN T E BRI BALHENTEET,
(2) BALO R EIZR D3 BVEZEBRHL TCOET,
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(b) MEHEINR
100[ kg]
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100kg
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ZDEHA—RMVTmEVIFREEFEZFEHAL T TH, m&V
EEEZRELTHERATEET,
(4) 21—V B DB & TED, TZTEFOEMALBRHE TEET,

Oooo
0 BEEHERKE 10 +200 =10,_200_ 0.45, +400_+20.5 =870.5_
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0.45,+400,=,, O0OOO0OO0OO0OO0O0OOOOOO0.45,+400,=85000,,
0 ZERBIOEZ#ZGHERE
Mp=12.5 ~ Rf7&=20.4,
mEAE=[E 0 X B4T&=12.50_ X 20.40,_=255_,

m0:5.6kg V:3'9m/s Sn-lol475:28°21’33.66ﬂ
Lol _ o5
B=5 myv?=" X 5.6, X (3.9, ) ?=42.59, =083,

* HENVBEF(CZTIINEHFINFR R TRY)
1[|] =1000[cm?]=0.001[m3] 1[1.y.]=9.46053 X 1012[ km] (1Y:4E D FEEE)

1[ #]1=1.818[ m]=0.59994[ X1  1[ft]=30.48[ cm] =0.3048[ m]

1[ nm]=10"°[ m] =0.000001[ mm] 1[ ha] =100[ a] =10000[m?]

1[t]=1000[ kg] =10°[ g] 1[ x m]=0.00001[ dm]=0.001[ mm]



